NC ROTARY Multiple Spindle NC Rotary Table

O T TM2100- T3 100-TM2160- T3 160
Mcries o1 Teiso T

Multi spindle range for multiple work piece machining
Reduces set up time and increases productivity

@®Mono-block body & compact design

@®Ideal for tapping machines with high speed
rotation

@®\Working time reduced

@®Multi spindle for simultaneous work piece
machining e

A\\ork holding device combining NC Rotary Table and Chuck.



KITAGAWA

[Machine Tool Accessories

X Table Size 100 can be used for only pneumatic type. X Table Size 100 can be used for only pneumatic type.
TM 2 160 H% %% TMM2 160 H2 =*
Type Table Size —[ Design No. Type —[ Table Size —EDeSIgn No.
TM:Right hand 100- 160 Motor type TM:Right hand 100- 160 Kitagawa own controller
TH:Left hand TH:Left hand 2:MAC mini i
Number of tables ilzaé?]grﬁa?: thod Number of tables ila;:::;galt'rllethod 4:MAC mini H
2-3 B :External Air-Hydraulic Booster Kltagawa B :External Air-Hydraulic Booster
H:Hydraulic own controller H:Hydraulic
M specification
Model TM2100 TM3100 TM2160 TM3160
Right hand O O ©) ©)
Left hand O O ©) O
Table dia (mm) ¢ 105 ¢ 105 ¢ 165 & 165
Register diameter on Face Plate (mm) ¢50H7 ¢50H7 ®50H7 ¢50H7
Spindle through hole diameter (mm) ¢ 32 ¢ 32 ¢ 40 ¢ 40
Centre Height  (mm) 110 110 140 140
Clamping method Pneumatic Pneumatic Pneumatic/Hydraulic | Pneumatic/Hydraulic
Clamping torque (N-m) (i pneumatic 0.5MPa/hydrauic 35MPa) 117 17 176 / 400 176 / 400
Motor axis reduced inertia (kg-m2) 0.000353 0.000475 0.000145 0.000188
Servomotor (for FANUC specification) aiF 4/4000 aiF 4/4000 aiF 4/4000 aiF 4/4000
Gear ratio (Decel. Ratio in M signal) 1,/36 1,,/36(1,760) 1,90 1,90(1,7120)
_ FANUC specification (for min™") 83.3 (for 3000min") |69.4 (for 2500min™") |33.3 (for 3000min™") |33.3 (for 3000min’")
Max. spinde speed . — — — —
M signal specification (min™") 83.3 (for 3000min’")| 50 (for 3000min™") |33.3 (for 3000min™") | 16.6 (for 2000min’")
Allowable work inertia (kg-m2) 0.054 0.054 0.51 0.51
Indexing accuracy (sec) 60 60 30 30
Repeatability (sec) 5 5 4 4
Mass of product (ke) 85 100 100 150
Manual Tailstock (as an option) TS2100 TS3100 TS2160 TS3160
Horizontal (kg)
@ 60 60 160 160
Allowable Load
Vertical (kg)
(ﬁ 30 30 80 80
F kN
P 6 6 10 10
FXL (Nm)
Allowable load & 200 200 600 600
FXL (Nm)
@ 120 120 176/(400) 176/(400)
T (N'm) P
Alowable cutting toraue @ 180 180 300 300

Note) 1. The switch for pressure checking is incorporated to all series except TC/DM of NC tables. 2. In case of air/air-hydraulic clamp specifications, the
solenoid valve(s) for table clamp is (are) incorporated. 3. Neither cable nor hose is fitted between NC rotary table and machine tool... 4. Solenoid
valve is not incorporated in case of hydraulic clamp method. Consequently, customer shall prepare it. 5. Each product mass is determined by a
Kitagawa M signal spec. 6. Contact to Kitagawa about rotary joint and tail spindle.



| NG ROTARY
— series

HEDimensions [4th axis specifications]

TM2100-TM3100-TM2160-TM3160
TH2100-TH3100-TH2160-TH3160

6-M6

Q

$40H8

6-M6

%

Table T-slot width T slot width

$40h8

TM2100(TH)
Rc1/8
Clamping air supply port
(at spec. of air booster)
498 (on back side) 250
141 357 151 101
2X3-M8 H? Table surface
J n__~ - «
g 3 w1 150 = 2
o) ” o = %I H—F
E | 2
2X3-M o1 | 18h7 o & _JHo|ollw 42 5
75120 T75 70,170 = 149
6 270 222
Thru-Hole Diameter
TM3100(TH) Rc1/8
Clamping air supply port
(at spec. of air booster)
618 (on back side) 5,
201 417 151 101
- Table surface
3X3-M8 a0, 3p° ™ EE
- s o
o < ~ sy
2 3 mI1 150 o N O P
Q R =1 — n
Al o - /-T EE
~ =t 1@i
axamg/| | _|llien7 ES & ool 40,
751 120 | 120 |75 70170 149
& 390 222 Thru-Hole Diameter
TM2160(TH) Rc1/8  Clamping air supply port
(at spec. of air booster)
Rc1/8 Clamping hyd. supply port
(at spec. of oil pressure)
633 on back side)
207 426 247
151 96
2 15 _ Table surface
E<t I oy
o T ] JH )
L‘N7 A L ENS § ﬁb’ 1
dlo 14, 150
¥ H ~
T £ ‘V‘ ! q‘, &:57 ‘ 32 20
2X3-M10 “‘T 8h7 Y & K \ \
101 200 | 100 149
6 " 401 226 )
Thru-Hole Diameter
TM3160 (TH) Rc1/8 Clamping air supply port
(at spec. of air booster)
Rc1/8 Clamping hyd. supply port
(at spec. of oil pressure)
833 (on back side) 047
307 526 | 151, 9 Table surface
157
S -
o T TR
of - AV AN 3 @ UL
& 2 L1495 J o i N s 1],150
< - < V=
Vs :*7,; = 0 Q‘/
vy -
3X3-M10 Jagn7 IR 8
101|200 200 |100 7070
6 601 226

Thru-Hole Diameter

50

St.17

Hex bolt
M1 6X65

-

&#ﬁ j‘l @
] 4
24! 48 | jF L_s)l
,Eg,
S E

Clamping device

St.17

Hex bolt
M16X65
w0

=}
[<p}

5

o
o
«

=[]
Bl T

s

Clamping device

St.17

Hex bolt

M16X65
w0
func 3

&tﬂ

T

Sl

B

2l 8o

Clamping device

Table T-slot W|dth &

Clamping device

¥The above outline dimensions are shown with FANUC motor specifications.
In case of specifications with other makers, the dimensions may differ in length.
TM is used at a right hand and TH is used at a left hand.




KITAGAWA

[Machine Tool Accessories

HEDimensions [Kitagawa own controller]

TMM2100(THM)
Rc1/8
Clamping air supply port
(at spec. of air booster)
443 / (on back side)
150 141 302
s Hex bolt
140 |10 2X3-M8 | a0’ 30 Table surface st17 M16X65
| S y Iﬁ{ 8‘
+ o8 o7 1= &t}%idi
S No g — 45
E = 2 o ] 2148 % L_’l
*f + y * 145
& L1010l &l 2X3-M 40
L 30)
0.7 149 o
167 N
Thru-Hole Diameter Clamping device
TMM3100(THM
3 00( ) Rc1/8
Clamping air supply port
(at spec. of air booster)
(on back side)
563
150 201 362 / Hox bolt
140 |10 3X3-M8 | 20._3p°
3 ‘ 30 Table surface StA7 Mi6X65
M\ w0
pl S S 1 LE{ 8‘
c e ll8] o~ E— 1] N
U Y o 9 ‘ e )% < | ‘\V Lﬁ,l
o - = J 24! 48|
%: 4 & 14.5
i 10‘@6&? &/ wl || 18h7 my
70/ 70 3X3-Mg| 75| 120_| 120 75 149 p{IEL
6 390 167 S _ )
Thru-Hole Diameter Clamping device
TMM2160(THM)
Rc1/8
Rc1/8 Clamping hyd. supply port
(at spec. of air booster)
((at speci(of. oil)pressure)
610 on back side Hex bolt
207 403 St.17. M16X65
151 15, [T
0 ﬁ = 6-M6 Table surface o 8
o Sy A{\b: = 12 Kij ﬂUﬂ - @
Lol 8 o7 Mmealeed— o g A A - e
150fl1% g YT = > ‘
‘_“v"ﬂ 9 —f ! = “@0 =4 20 32 3 @ @»
] by ol |1gh7 ! T vl o
70 70|  2X3-M10/ | 101|200 |10t 149 Table T-slot width &
7 402 201
Thru-Hole Diameter Clamping device
TMM3160(THM) Rc1/8

Rc1/8 Clamping hyd. supply port
(at spec. of air booster)
(at spec. of oil pressure)
(on back side)
810 Hex bolt

1308 502/ 6-M6 Table surface StA7 M16X65
151 5° /o
“’\’# Q fma &
X N = 12 gi}\jd @
—#ﬂt@ %“: 1% 1% Y1) = o I B ::_*:@
150] |17 d o LA S E | 955 od 48| =
= v ‘v_ L o o ‘ - 5 [2) $
= 0 - - 02 @ ol P 20 32
cji gl | & o ll18n7 =g \ 3 = @
Y .
7070 3X3-M10/ | 101|200 | 200 |101 149 ™ Table T-slot width & 4—#30
7 602 201 0
Thru-Hole Diameter Clamping device

%TM is used at a right hand and TH is used at a left hand.




